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QUESTION 1

As part of the service order processing, the algorithm D1-CNSPINSDV (Connect SP and/or Install Device) determines if
a specific activity needs to be created based on the state of the service point.

Based on the status of the service point, what can this algorithm create?

A. Device

B. Device Configuration

C. Smart Meter Command

D. Service Point

Correct Answer: D

Reference: https://docs.oracle.com/cd/E63094_01/PDF/SGG_SOM_Configuration_Guide v2_1 0_3.pdf

(18)

QUESTION 2

How many devices can be installed at a service point at an instance in time?
A. exactly one device

B. up to three devices

C. one for each service type

D. one for each measuring component

Correct Answer: A

Reference: https://docs.oracle.com/cd/E80256_01/PDF/MDM-SGG_Business_User_Guide_v2_2_0_0.pdf

QUESTION 3

Your client has installed scalar devices to measure the solar energy generated (Export) and the energy received
(Import) from the National Grid. This data is stored in separate measuring components (registers).

The validation rules are generally the same for both measuring components, but there is one exception. The Negative
Consumption check applies only to energy received (import). Which two are possible configurations resulting in the
Negative Consumption rule being checked for energy received (import) only? (Choose two.)

A. Modify the base VEE rule.

B. Remove the Negative Consumption check from the VEE group.

C. Create two different VEE groups.
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D. Use Eligibility Criteria.
E. Use the Skip Flag in the VEE rule.

Correct Answer: CD

QUESTION 4

When a service agreement is created, it is based on a template called the Service Agreement Type (SA Type) and

values may be defaulted from a Start Option.

Which three attributes can get defaulted from a Start Option? (Choose three.)
A. Terms and Conditions

B. Service to be billed

C. Contract Quantities

D. CIS Division

E. Rate

Correct Answer. ABC

QUESTION 5

Within the application, operational devices can be assets or components.
Which two statements are true about components? (Choose two.)

A. Components are attached to assets.

B. Components have a disposition that tracks their location and status.
C. Components can be installed at locations.

D. Components are not a class of assets.

E. Components can\\'t have specifications.

Correct Answer: AC
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